MJLSB8000C - LAP BELT COMBO KIT

WARRANTY PARTS
EXPLODED VIEW DIAGRAM

Seat Belt Strap is Attached to ltem#3

MJLSB8000C - LAP BELT COMBO KIT

ITEM NO.

DESCRIPTION

PART NO.

QTY.

1

Seat Belt Bar Bracket

WO03-19-1

Lap Belt Lock

W03-17-2

Belt Strap w/ Bracket

WO03-17-1

2
3
4

Hardware Pack (For Seat Belt Only)

WO03-18-3

M8x40 Hex Head Bolt

M8 Hex Nut

M8 Flat Washer

M8 Lock Washer

M8 Rubber Washer

Hardware Pack (For Seat Belt Bar Only)

WO03-18-4

Small Bracket

M10x55 Hex Head Bolt

M10 Hex Nut

M10 Flat Washer

OB IN| 2R 2NN~

Date Revised: 6/18/15




	Sheet1
	Drawing View1


